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9 Plains dwelling 34 Lyft rival
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11 Lily variety 40 Sanction
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47 Kind of oil
48 Snake's
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50 Shove off
51 "Door's open!”
52 Hard-nosed
53 Lacking slack
54 Ancient letter
55 Star anagram
56 Horse's walk
60 Tie the knot
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HOW TO SOLVE:
Each row must
contain the numbers{
1to0 9; each column {
must contain the
numbers 110 9; and ||
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Answer keys on page ‘

eachsetof 3by 3

boxes must contain
the numbers 1to 9.
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: on to Sudoku
4/2/8/6 5/9/1(7][3

uti

Sol

8/3/4|2/9!1]5|6(7ll

1/7/3|4.2/8/6/9|5
6/5/9/13/7|2/4(8
5/9/2|7 4/6/38(1

2[8]5[9/1/4|73]6
|[3]1]6]8]7]2]9[5]4
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